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1. (a) Define the following terms as used in Production Economics:

(i) Production (1 mark)
(11) Isoquant (1 mark)
(iii) Marginal Rate of Product Transformation (1 mark)

(b) Describe how you can arrive at the optimal product combination using the

graphical method. (5 marks)

(c) Distinguish between the following terms as used in Production Economics:

(i) “Fixed” and “variable” costs (2 marks)
(ii) “Marginal cost™ and “Marginal revenue” (2 marks)
(iii) “Implicit” and “Explicit” costs (2 marks)
(iv) “Technical” and “Economic” efficiency (2 marks)

(d) Explain why the elasticity of production varies along a classical production

function. (6 marks)

() Describe the effect of varying technology on a firm’s production function.

(2 marks)
()  Describe the attitudes of different persons towards risk. (6 marks)
2. Describe how fruit tree producers can counteract the risks and uncertainties that
confront them. (20 marks)

. (a) With the aid of sﬁitable examples describe the following relationships between

products:
(i) Supplementary products (2 marks)
(i1) Complementary products (2 marks)

(b) Explain the relationship between average cost, marginal cost and marginal revenue
for a classical production function. (3 marks)

(c) Thefollowingistheproductionfunctionofasmallfirm:

Q:3K0.45L0.55_

Page 2 of 3



(1) ComputetheMP,andtheAP, functions (4 marks)
(i) ComputetheMP candthe APy functions. (4 marks)
(iii) Calculatethevaluesofthe Total Product,
MP; AP, .andMP, AP ,ifK=35andL=15.
(5 marks)

Suppose total fixed costs for Sukari Company are equai to Kes 100,000 and the
company’s total variable costs are given by the following relationship (where Q =
output): TVC = 60Q - 3Q* + 0.10Q°.

(a) Compute the firm’s

(1) Total Cost function. (1 mark)
(i) Average Variable Cost function. (1 mark)
(1i1) Average Fixed Cost function. (1 mark)
(1iv) Average Total Cost function (1 mark)

(b) Computeand tabulate the firm’s Average Fixed Cost, Marginal Cost, Average
Total Cost and Total Cost for 0 to 70 units of output. (16 marks)

Units of
Output

Average Fixed
Cost
(Kes per unit of
output)

Marginal Cost
(Kes per unit of
output)

Total
Cost
(Kes)

Average Total
Cost
(Kes per unit of
output)

0

10

20

30

40

50

60

70

Page 30f 3




